' PROBLEM

Problem

119

N: 10373.433
E: 10070.341

ny three points

determine a circle.
Find whether or not the
four given points lie on
the same circle.

: 10060.700
E: 9624.879

N: 9858.009
E: 10352.475

Problem

120

farmer owns two
djacent square

parcels which he has
entirely enclosed with
one mile of fencing. If
the larger square is twice
the area of the smaller
square, what is the area
of each square?

The problems for this column are contributed by retired California surveyor Dave Lindell, L.S.




